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<6장 연습문제 정답>

연습문제 6.1

1. ⒜ 

      ′    이므로  는  의 원시함수이다.

⒝         ′      이므로  는  의 원시함수이다.
⒞ sin   cos     ′  cos   sin 이므로  는  의 원시함수이다.

⒟  ln        ′  

   이므로  는  의 원시함수이다.

3. ⒜ 

            ⒝ 


      

⒞ 

  


        ⒟ 


  


      

⒠  ln   



   ⒡ 

  


    


 

5. ⒜                       ⒝ ln 


   

⒞ ln 


 ln 


  ⒟ ln 


   

⒠  
 



ln 


 ln 


  ⒡ 

 



ln 




 

 



ln 




 
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연습문제 6.2

1.  ⒜ 

            ⒝ 


    

⒞ 

  





  ⒟  

   





 

⒠ 

  





  ⒡ 

  





 

(g)  

cos                 (h) 


sin   





 

3. ⒜  

cos                      ⒝ 


sin      

⒞ 



       ⒟  

  

    

⒠ 

      ⒡  


    

(g) 

           (h)  


     

             

5. ⒜ 

 cos   


  sin        ⒝  sinh    cosh   

⒞ 

                ⒟           

            



- 3 -

7. ⒜ 

ln                     ⒝ ln  ln   

⒞ 

ln    ⒟ 

ln 


 

⒠ 

 ln       ⒡ 

ln 
 


 

⒢  ln    ln      ⒣ 

 ln   


  

연습문제 6.3

1. ⒜  

cos   


cos   


cos   

⒝ 

cos   


cos   


cos   

⒞  

cos   


cos   

⒟  

cos   

(e) 

cos   cos                          

(f)  

cos   


cos   cos   
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3. ⒜ 

sin                       ⒝  


cos   

⒞ 

sin       ⒟  


cos   

   (e) 

sin   


sin   


sin       또는   


cos   


cos             

   (f)  

sin   


sin       또는  


cos   


cos   


cos   

5.  ⒜ 

cos   


cos    ⒝ 


cos   


cos   

⒞ 

cos   


cos    ⒟ 


cos   


cos   

(e)  

sin   


sin    (f) 


sin   


sin   

연습문제 6.4

1. ⒜ 

ln               ⒝ 


ln      

⒞ 

ln       ⒟  


ln       

⒠ 

ln        ⒡  ln         

(g) 

ln                       (h) 


ln       
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3. ⒜ ln       ln           ⒝ 

 ln       ln        

⒞ 

ln       


ln          ⒟ 


ln       


ln     

⒠ 

 ln       ln             ⒡ 


ln       


ln       

5. ⒜ 5개                          ⒝ 7개
⒞ 3개 ⒟ 8개
⒠ 5개 ⒡ 13개


